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oleg XEEI 22 AlAE 25 200,000
405  RHaHFE S 90,000 105,000 A 15,000
01 X&YL2SEFHSHI 90,000 105,000 215,000
= 0l & 90,000 105,000 A 15,000
ols &4 24 FH 90,000
A0 4 MBI E=EY 29 327,196 340,578 A 13,382
101 o124l 53,891 55,649 AN 1,758
04 JI2ZtHZ22NHSE* 53,891 55,649 A 1,758
= 0l & 53,891 55,649 A 1,758
FAANS NEMF 23 E4(3Y) 53,891
== 64, 1502 x3ZF 250 48,113
50 B2 1,626,000& x3H 4,878
&3 300,000 «3H 900
201  LEt2I| 213,827 209,646 4,181
01 AtR2Zeldl 72,987 74,806 A 1,819
= 0l & 72,987 74,806 A 1,819
AUSIESZFY EEZAM =2 31,698
AUSIE dMEH BEEAMN =5 9,289
VOC, HCHO AlE XHH DI 170,000& =16 CH 2,720
OIMIEHX AlE JMF DI 163,000 = 11CH 1,793
- SHAZE WHOI 163, 0003 *4CH 652
LASHERA - Ol &M SHEHA EH D)
606,000 ~6CH 3,636
== 488,000 1CH 488
AUSIESZY B3 31,500
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2N BEHEdAF2R
Y B2 - 2F - ZM20F ANEZA L ZAHR(BA/BEHOZ)
chel: ol 838 XA (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 At 2teltl 2,480 3,620 A 1,140
= 0l & 2,480 3,620 A 1,140
BT A =8 1,980
C2EANE HWAEX (LX) 500,000 *20H 1,000
oI EItA S II(Sox S)
390,000 =2CH 780
OB EOtA =3 DI(THC)
200,000 *1CH 200
JlsXl&d 8¢ 500
02 2294l 25,712 20,451 5,261
= 0l & 25,712 20,451 5,261
AMEZAEH S22 4,300
HAZ A D] 600,000 =4CH 2,400
25AME MHHAEX 300,000 =4CH 1,200
2#E4| 700,000 *1CH 700
L2SNSSEFAAE U SA22 4,600
LASUNSESFANAE SA22 | 16,812
202 Ol 9,600 9,600 0
02 FMOHHI 9,600 9,600 0
= Off &t 9,600 9,600 0
g sE3gR &%
200,000 x4 H x12& 9,600
207 AN HI 12,780 14,200 A1,420
03 Al&Ed Rl 12,780 14,200 A1,420
= 0ff & 12,780 14,200 A1,420
AMNSEUHINE, ASLISS A M=l 8,100
Al <t 2,700
AMEIF L 2 5,400
A2SFEII 28 M=l 4,680
odF Y BHRMNESE = - 24 173,020 176,912 A 3,892
201  LEt2I| 112,092 115,992 A 3,900
01 AtR2Zeldl 35,100 39,000 A 3,900
= 0l & 35,100 39,000 A 3,900
oy 2 FHLHERISGEFSE(VCs) MHs=
I1J] 22 8,100
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2N BEHEdAF2R
BE: D2 S BME0 ABAN U ZAGR(2A/2AYR
CHol: JISHAE 02 W BHE OFE 2R CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
207 A = 15,000
03 Al&d2HI 15,000 12,000 3,000
= 15,000
= 0l & 15,000 12,000 3,000
= 15,000
SMSAMB A H=HI 15,000
= 15,000
405  RHaHHE SHI 45,000 35,000 10,000
= 22,500
Al 22,500
01 &L 2SFHSHI 45,000 35,000 10,000
= 22,500
Al 22,500
= 0l & 45,000 35,000 10,000
= 22,500
Al 22,500
HAEEX 45,000
= 22,500
Al 22,500
HE2ABH(BASEH2A)(IIEHIIE 9,134,314 8,519,977 614,337
Xl 1,412
Al 9,132,902
ol 29| 8,666,306 8,063,810 602,496
ol 29| 8,666,306 8,063,810 602,496
101 elAd4| 8,397,686 7,801,190 596,496
01 2= 8,242,578 7,565,944 676,634
= 0ff & 8,242,578 7,565,944 676,634
== 5,533, 138
1= 7,563,330& «1H x12&*1.03 93,483
5@ 4,209,700& »3F x12& »1.03 156,096
6= 3,355,700& 10E x12& »1.03 414,765
= 3,042,000& «18F x12& »1.03 676,785
8= 2,822,4003 x4F »12& *1.03 139,540
9= 1,642,900& x1Z »12& *1.03 20,307
- 4,814,400& x17F8 «12& x1.03 1,011,602
o At 3,133, 1003 «78F x12& »1.03 3,020,560
2 461,095
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Al 2FQ| =& 723,393
= 12, 1133 3 %44 A 2+ %128 x1.03 19,763
6= 10,3313 x 10 44 A 2tx 128 x1.03 56,185
2 9,332& *21H x44 Al 2tx 128 x1.03 106,578
8= 8,378& x4H 44 A| 2 %12 *1.03 18,226
9= 77,5733 x 1 x44 A 2 %122 *1.03 4,119
SRR 12,139 # 14 x44 Al 2% 122 %1.03 92,424
- A 9,957 x78% x44 Al 2t %128 +1.03 422,372
SSY A=A
6,851& x44A| 2tx12& *1.03 3,726
o224 47,860
A2 AL 3,319 *8A| 2E*7H %2502 x1.03 47,860
tE< 82,800
b < Xt 40,000& =110 ~12& 52,800
M EHI S 20,000& x110H x12& 26,400
AUTH XFUE 30,000& *10H x12& 3,600
ANESHIEXLS 35,456
E==1am 443,200& *20Y *43| 35,456
S0 857,040 128 10,285
242G R 5,084,200& *3H x7.8%*12& 14,277
H24Y JHa 2 118,800
- 20 Ol & 100,000& *70H x12& 84,000
- 15 -204 0] 8+ 80,000& 15 x12& 14,400
- 108 =153 0] 2t 60,000& x20H x12& 14,400
- 5E-10E 0] B 50,000& *10H x12& 6,000
d2aY FIOIHA3 23,760
- 208 -254 0] Bt 10,0003 18 x12& 2,160
25E 0] & 30,000 x60H x12& 21,600
FE2RY 68,280
=435 50,000& «85H x12& 51,000
=23 40,000 «36H x12& 17,280
s 131,800& *63H x12& 99,641
HESIRIAG 50,000 x2H x12& 1,200
ExJlsdE2aY) 7,200
62, 7= 30,000& *11H x12& 3,960
8= 20,000 x5H x12& 1,200
M2 (OIsE, JIA
30,000& x2H x12& 720
JbAEZ (AFS DI AF) 20,000& *3¥ x12& 720
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
S "2 (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
s (28 ) 10,000 x5H «12& 600
UL (ZSNMSAHAALR)
150,000& *9H «12& 16,200
EX(HARIANBL2IAPL24H)
80,000& *85H x12& 81,600
SH(ATHYIAD 3014
60,000& x1H ~12& 720
EX(eSY M2 xG)
200,000& x1H x12& 2,400
nemAY 500,000 x 1 x12& 6,000
NEIALSHZOHAZ) 50,000& *1H x12& 600
DAL 30,000& x1H x12& 360
NE=PNEFSER=y 40,0003 x6H x12& 2,880
HHFAH| 130,000& 132 ~12& 205,920
HE S0t 5,533, 138,000& x1/12%60%*23| 553,314
A OIS AbH] 5,533, 138,000 *86%+11/360 145,399
02 JIEt2E 7,200 7,200 0
= Ol & 7,200 7,200 0
YASSHAS2(SESTY LS AH)
600,000& x12& 7,200
03 RIAHAZZXHE > 147,908 228,046 A 80,138
= 0l & 147,908 228,046 N80, 138
N&E L FA o2 128,160
=3 1,765,380 x4H 128 84,739
NESY 3,120
-l < Xt 40,000& x4H x12& 1,920
& =8l 20,000& x5H x12& 1,200
DI 1,825,380% x4 H x23| 14,604
HoHZ A 60,000& x4H x 128 2,880
-SR] 1,095,230& *4H *23] 8,762
CH 21 & AtHI 50,0003 x4H 123 2,400
HaN2 389, 160 & x4H 13| 1,557
- P A H| 100,000& x4 x12& 4,800
RS EFIY 88,290& x4H 15 5,298
htl 282 19,748
=032 2E 2 128,160, 000& *4.5% 5,768
NEEHERHZ 128,160, 000& *1.5% 1,923
MHEEREEZS 128, 160,000& *0.704% 903
ZOAHAULEHEEZ2
o 128, 160,000& *3.035% 3,890

_37_




2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
RS
3,890,000& *6.55% 255
SaUz B2 2,502,867& *70%*4H 7,009
204 AP AHY| 268,620 262,620 6,000
02 &Z8ExH| 268,620 262,620 6,000
= 0ff & 268,620 262,620 6,000
AR (3ZAEE) 500,000 128 6,000
AR (A3 A E) 400,000 »2H x12& 9,600
43 400,000& x1H x12& 4,800
52 250,000 x3H x12& 9,000
62 155,000& *10H »12& 18,600
3 140,000& x18H x12& 30,240
8=~92 105,000& x5 «12& 6,300
A2 250,000& x13H x12& 39,000
A A 155,000& x78H x12& 145,080
Jl2&ddl 468,008 456,167 11,841
Xl 1,412
Al 466,596
Jl2&l 466,596 454 /517 12,079
201 A E2AH| 103,946 107,862 N3,916
01 Ar®2teltl 103,946 107,862 N3,916
= 0ff &F 103,946 107,862 N3,916
EM2Y JIS242H| 27,990
BAHASHIAIRR 26,300, 000& *90% 23,670
SN AME AL 4,800,000 *x90% 4,320
2l = Al H| 57,360
BAHAESHFAIRR 50,280
SMSAME AL 7,080
2R 2| 18,596
SAHASHIALRRA 17,150, 0003 *90% 15,435
SMS I HB AL 3,512,000& *90% 3,161
202 044l 266,820 255,300 11,520
01 2L 266,820 255,300 11,520
= 0ff & 266,820 255,300 11,520
2L S &0 I 244,320
SAHASHIALRRA 202,560
SMSFIHB AL 41,760
22 &0 22,500
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
erel: =) CERT
M- =8 a9 (3) - HEAY - a2 (ggz::) @(ijf;ﬁ% HRE2
203 YRF=&4| 42,530 42,755 N 225
01 JIA2H IR =AY 14,850 15,675 N 825
= 0l & 14,850 15,675 A 825
2 (33) 6,600,000& *90% 5,940
AH E2XH(43) 3,300,000& *3¥ *90% 8,910
02 HEIAER2=XH| 9,920 9,620 300
= Ol & 9,920 9,620 300
100 Mt X 80,000& *100H 8,000
101-400 Dt X 60,000& «32H 1,920
04 EASILERF=AH| 17,760 17,460 300
= O & 17,760 17,460 300
SR 250,000& «12& 3,000
BAAIRE 420,000 x12& 5,040
SEARE 460,000 x12& 5,520
SAS M ALA 350,000& 128 4,200
204 NP AY| 24,000 24,000 0
01 MHZHRHAY| 24,000 24,000 0
= O & 24,000 24,000 0
A& (33) 650,000& ~12& 7,800
A&, BH43) 350,000 »x3H x12& 12,600
LE, AX(BZ) 100,000& *3¥ ~12& 3,600
405 XtAHE S 29,300 24,600 4,700
01 ANMLE2EFSHI 29,300 24,600 4,700
= O & 29,300 24,600 4,700
AIFE FEH L Z2LUH 23,400
=Xl 1,000, 000& =18CH 18,000
22U 300, 000& = 18CH 5,400
A2 A (HOIADL , A2, HIE
EstE2AHH) 00,000 =3CH 900
S A 5,000
OE AL J|I2HHI(BEX) 1,412 1,650 N 238
Xl 1,412
201 B2 A Y| 1,412 1,650 N 238
Xl 1,412
01 Ar®2te2lbl 1,412 1,650 N 238
Xl 1,412
= Ol & 1,412 1,650 N 238
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